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Plot Sensor and FgRec Data
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Trend plot forP3-6_0

minFVI
minFVO

Warning: col ['minFVliraw , 'minFVOraw' ] is missing

S
o
1

(] ETcAlraw
—  ETcATl
—@— ETcA

o

©
I
]

° Warning: col ['ETcA2raw’, 'ETcA2'] is missing
0.2 A )

Warning: col [ ETcA2raw’, 'ETcA2avg’', 'ETcA2'] missing

0.0

4500 + —@— ECopt

—0— ECI

4000 ~ —8— ECO

3500

3000 -

20007 ; - -a-a-07
W----—

2000

1500 r Warning: col ["ECC] is missing

Warning: ['PHG'] is missing

31.54 —8—  WCperM
31.0 -

30. 5

30.0 —HHW*—%*%W%H

29.5 A

29.0 +
Warning: col [ WCperMraw’ , 'WCperMavg'] is missing

28.5 -

0.50 —0—0—0—0—0—-0—-0—-0—-00—0-0-0-0-0000090-0-0-0000000000000000000000000-

—@®— stdDeltaM

0.30 -Hﬂ%%—.—.—.ﬂﬂﬂ%—.—.—ﬁ.—.—*—.—.—.—mﬂﬂ%ﬂw

1
1
1
0. 45 + i
1
1
1
0. 40 + 1
1
1 —@— minDeltaM
0. 35 4 : —0— avgDeltaM
1
1

1
1
0. 25 1 :
1
1
0. 20 —C—CO0O—C—C0—C—0—C—0C0—C—C—C0—C0—0—C0—0—C0—0—C0—C0—C0—C0—C—C0—0—C0—0—C0—0—0b—0—C0—O0—C0—0—C—C0—C—CO0—0—0—0—C0—0—C0—0—C—0—
1
30 —H—.+FF.—FFFH—.—.—.—H—.—.—.—H—.—.+FF.—FF‘—.—H—.—.—H—.—.—H—.—.—II —8—  beg N

: =0 maxM

9g : —@— minM
1
1
1
i 1
26 I
1
24 i
1
1
1
22 :
1
1
1

20 9—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—00—0—0—0—0—0—0—0—0—0—0—0—0—00000000—0—0— 000

: ad JFVOR
0. 04 - |
|
|
1
0.02 - :
I
|
1
0. 00 .
|
1
1
~0.02 - :
|
|
|
~0.041 Warning: col ["adjFVIRraw’, "adjFVIR", "adjFVORraw' ] is missing !
1
1
1 1 . 1 1
© 000000 000000000000 00000000000000000000000000 0 (
|
0.64 @
o ° o :
® [ ] 1 _
1
° ° ,
0.5 - ® 1
I
L 1
|
|
0.4 1 i
1
1
1
I
0.3 | ® FRA
: ® FRC
: o FRraw
0.2- ° : — M

—@— beg wc
58

56

54 -

52 A

50 A

48 -

300 () postFgEtraw

—@— postFgEtavg

250 - —@— postFgEt

200 ~

150

100

50 ~




FgDaily




¥

PPFD

TTTTT
EEEEE




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

1 1 1 1 1 |
ETcl ETcldef ETcP ETcPT ETclis ESo

| |
ETol ETbai

pR

1.0

0.8

0.6

0.4

-0.2

-0.0



° ° ° °
9 e o® L)
600 - . e o ° o ° e o ® o o o°
% o o ©®° ° %S ° o® ® 2,
° ° ° °
o 400 -
o
o ° . o ° . . ° ° o« °® .
o .. ° o ® °® ® . o . : ° o ° .°
200 - ‘ ° 8 5 LY : ° o® ) ® ° ~.O ‘., PS LY :‘
¢ . Se o ®e o o ¢ e o e ..39@ % * % go
° ° ° °
T T T T T T T T T T T T T T T T T T T
o °
1750 - ©° o . 5.‘
15004 ° °o® o2
_ e . o0
@ © ® "
Y ("X J ®
e © e o e 53 I
— 1250 N N .
2
L o o
10004 @ - ®
°
° °
75010 @ - ® ®
500 A o 1 o
° °
22 N P ) T %‘
S o4’ ® e’
201 ¢ &° ® 9 - o & e
() ®
® .. o e
18 4 ° ° . °°
— ° [ ] L4 ®
° ° ° ° °
167 o o T ° ©
° °
14 .
° °
ole ©® | .
T T T T T T T T
° ° °
70 4 -
o °
60{® . *%e
° ° °® ° e
°
= 50 - e® °® | .OQ
° o % o 0°%°
° ° ° °
04 ¢ - °
~. o) ([ .. )
° °
° °
° °
600 ° - °
° °
500 - ¢ . ¢
° °
° °
400 - . o
= ([ J ® .‘ L4
>
300 A E ®
( [ ) ) [ )
200 - % . ° * e
100 & e o .: e
1 e o 1 ® (1)
% ® °
T T T T T T T T
400 ~ 1
® o o Y o (Y o®
e 0 e%0 ® oo oo (] o oo :@ % o ) e
o 00 ¢ ® o O ¢ e 0 o o o9 o ) ® ‘e °®
© : e © (o'o"o’. €%°4e® 0 . ®°%¢ e® e .
300 .. ° o ® N ® :(. ® g‘. o o ° ° g ® ° .. G ©
° ° ° °
° o ® ° ° ¢ ° ° ¢
- ° ° ° ° °
2004 ®e - ° L ° ® ° %
100 4 E
° ° ° ° °
T T T T T T T T T T T T T T T T T T j I
200 400 600 500 1000 1500 12.5 15.0 17.5 20.0 22.5 40 50 60 70 200 400 600 100 200 300 400
ETcl ETol T RH VN |



2000 -

1750

1500

1250 ~

1000 ~

750 -

500 -

250

obs
Fit

100 150

baiB

1.0

0.0145

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6 0.8

1.

obs

600

500 ~

400 ~

300 ~

200 -

100 ~

Fit vs obs: a=1.05, b=-27.29

r=0.79

1.0

300 400

Fit

200

500

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4 0.6 0.8

1.

0



hour

100

:00 -
:35 -
80
:00
:00
- 60
:00
:00
- 40
:20
:30
20
140
:00
I I I I I I I -0
B b & B 0B % S
é§¥ égr %ﬁ» & éﬁ“ 4? %;5 %gr



P3-6

BFE) | GEBRTIK () | EBE (EA/F) | XS SRR

07:00 185 100.0 5| THEBe07:00 REFEF (KEAERE)
08:00 185 100.0 5| THA@08:00 KENFEF (KRAIEEEE)
09:00 185 100.0 | FiHe09:00 REFEF (KEAERSE)
10:00 185 100.0 5| TiHe10:00 RHFEF (KEAERESE)
11:20 185 100. 0 5| FHAe11:20 KEFEF (RAERE)
12:30 185 100.0 | FiHe12:30 REEF (KEERHR)
13:40 185 100. 0 5| TiHe13:40 RHEF (KEAERESE)
15:00 185 100. 0 5|  FiHAe15:00 KEIEF (KRAERE)
=it]1480.0 (8%) 800. 0 32 UHKEC: 2080.0, PH: 6.0

FEREBIEC (2610.0) HiZFEEC (2000.0) REK K, HHRE




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=29 (2025-04-27)

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
680

63

100

00

00

- 800

556 600 ©

£
- 400 ~

FRV

- 200

TargetEC=2600. 0,  TargetSetEC=2080. 0

0.2~

0.0

TargetPH=6. 5, TargetSetPH=6.0

300 -

200

100 A

ByWoFv @D29 02:50: ET=556 Fg=800.0 Ro=129.0

I S R U - N

7
- 1000
- 750

- 500

cumET (ml/plant)

- 250

1.0

0 1 2 3 4 5 6 7 8 9 10

11

16

17

18

19

20

21

22

23

0.8 1 2=

E3
B

E3
B

E3
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

800 4
600 -
400 -

200 -

o

"PPFD_obs’] is missing

N\ warking: for T

25 4

20 -

15 4

"To_obs'] is missing

00—

60

40 -

"RHo_obs’] is missin

Warning: lcol ['RH_obs’,

—— RH

0.2 0.4

0.6

0.8

1.0



hour

100

:00 -
145
80
145
145 - 60
50
135 - 40
:50
20
:55
:10
1 I I I I I I -0
& & & B & % S
é§¥ & ?ﬁ» & & 4? %;5 %gr



P3-6

Bria) | GEBRRTIC (7)) | EB= (BH/HK) | XS e

06:45 210 90.0 5| {FRi&@06:45 Fx) (KREERSE)
07:45 210 90.0 5| 1Ri%e07:45 FH (REEREE)
08:45 210 90.0 [Z=| {Rige08:45 Fzh (FAEHSE)
09:50 210 90.0 | BA| {Ri&@09:50 Fzh CREAEESR)
11:35 210 90.0 | Ri%e11:35 F51 (GREHRESE)
12:50 210 90.0 5| {RiZ012:50 F5) (KEAERESE)
13:55 210 90.0 5| {Ri%e13:55 F1 CGREAMEE)
15:10 210 90.0 | Ri%e15:10 F51 (GREHRESE)
=41t]1680.0 (8)%) 720.0 #2133 KEC: 2080.0, PH: 6.0

EREBRHK (210) 5FREA (164. 0) R FF, FIREM T % WEIERS X XER

ZRIALPRIERE116.0 ml.

FEREBREC (2600.0) 5i&7EEC (2000.0) REIRK, HHE




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=28 (2025-04-26)

VI, VEIRRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 8101 oo
70
40 -

0 680 696 —_
56 61t 600 ©
E
- 400 >~
40
20 100 - 200
Warning: lcol [FVI',| "FVO’'] missing I
0 -0

150_( A — ME #30
FRV

100 I I
_____________________________ N N R R S | g —— Sy ——"—— S ——"— Sy ————" py———— I
=

1

80

60

FRV

1

- 28

- 24

a1
o
1

- 22

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 - 1500
300 { Bylnit @29 02:50: ET=658 Fg=810.0 Ro=77.0 t

cumET (ml/plant)

1
1
I L 1000
2001 l e e & = & o
1
1
100 - : - 500
—o—T9—io—o—o- 111 -
e e
015 1 2 31 41576 7 8 9 T 10 1112 1311411516117 ] 1811972121122 23 %00
S07WE | 6 | ® | # | #A | A5 | A5 | s | Bs | B | #A | #A | A& | A5 | T3 | BE | B | RA | Rs | A5 | A& | & | B | FA
200 ByEt @D28 18:39: ET=789 Fg=696. 0 Ro=nan - 1000
100 - - 500
— o —0 00— 0

cumET (ml/plant)

0 P—ma P N U W "

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 F 9500

ET (ml/hr/plant)

SO |/ | M | e | M | e | f5 | & (B=| P | | & |6 | & | 06 | & 5% |52 55 %2155 %2 5552 S
1 C
ByWoFv @D29 02:50: ET=561 Fg=720.0 Ro=68.0 - 1000 =
200 ~ : ~
I ———8—8—8—8 E
1
100 4 : - 500 ""_é
— o —0——lo—0—0——0— \/r \l\ 5
I \
1.0- 0 1 2 3* 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0l B | B | B | B | % | m B | % 5= | 0B | W | & | & | B |B| B 5255 |25521552552%%
0.6 -
0.4 1
0.2 A
0.0
1500 1 —_ 4
[ ] | _obs
1000 + —@— PPFD obs
500 -
0 A__A
— 4
30 A T
o T obs
o To_obs

20 A

10

4 4 ‘$.’. (Y e v ¢
) )

Og




24,

24.

23.

23.

22.

24.

24.

24,

24.

24.

32.

32.

32.

31.

31.

31.

34.

34.

34.

34.

33.

33.

M_E

T T T T
600 700 800 900

m=720,m FV0=0

—o— ME

i
.

7é5 750
m=510,n FV0=0

50 -

25 -

00 ~

75

50 -

25 A

—— MW

il
i

5%5 550
m=780,n FV0=0

75 -

50 A

25 -

00 -

75 1

50 A

785 790

m=510, FV0=0

23.75 A

23. 50 A
23.25 A
23. 00 A
22.7175 A

22.50 A

22.25 A

M_E

5%5 5&0
m=780,n FV0=0

T
510

24.7 A

24.6 -

24.5 -

244 -

24.3 -

24.2 A

24.1 -

—o— M_E

7é5 7é0
m=600,n FV0=0

33. 00 A

32.75 A

32.50

32. 25 A

32. 00 A

31.75 4

—o— MW

665 6%0
m=840,n FV0=0

600

35. 0 -

34.5 4

34.0 A

-o— MW

it

840 845 850

m=600, FV0=0

24.

24.

24.

23.

23.

—0—

M_E

600

605
m=840,n FV0=0

T
610

24.

24.

24.

24.

24.

24.

24.

—0—

M_E

840

845
m=660,n FV0=0

T
850

33. 75 A

33. 50 A

33. 25

33. 00 A

32.75 A

32.50

—— MW

660

665

670

m=660, FV0=0

24.8 A

24.7 -

24.6 -

24.5 A

24.4 -

24.3 A

34.

34.

33.

33.

33.

33.

—0—

M_E

T T
660 665

670

35 A

34 -

33 -

32 A

31

—— MW

660 760
m=720,n FV0=0

T
500

T
800

—— MW

720 725

730



hour

100

00 -
25
80
15
:05
- 60
55
145
- 40
:10
:20
20
110
:10
I I I I I I I -0
B b & B 0B % S
é§¥ & ?ﬁ» & & 4? %;5 %gr



P3-6

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

07:25 210 90.0 F[ BRige07:25 Fa1 (GRAERESE)
08:15 210 90.0 | {Ri%e08:15 Fa (KRR
09:05 210 90.0 E 1BRi&@09:05 Fz1 (RAERERE)
09:55 210 90.0 5| {Ri%@09:55 F 3 (FAERHSE)
10:45 210 90.0 = RRiB0@10:45 Fz (REAEEE)
12:10 210 90.0 =l RiBe12:10 Fzh (REAEEE)
13:20 210 90.0 5 {Ri%e13:20 Fh (RAMERSE)
14:10 210 90.0 =l RRiB@14:10 Fz (RFAEEE)
15:10 210 90.0 =l RiB015:10 Fzh (REAKESE)
23t[1890.0 (9%) 810.0 3203 %EC: 2080.0, PH: 6.0

EREBRHK (210) 5F8A (167. 0) R, AIREM T % WEIEIRS X XER

ZRIALPRIERE113.0 ml.

REREEBIEC (2580.0) 5% TEEC (2000.0) REK K, HHEE

##[EKECE (2580.0 vs 3905.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=27 (2025-04-25)

ET (ml/hr/plant)

ET (ml/hr/plant)

804 VI, VE3RRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET - 1000
780 810
60 - 700 F678 | 750
38 73
40 4 - 500
. 40 I
Warning: lcol [FVI',| "FVO’'] missing
0 - -0
150 4 Vi —— ME #30
FRV maxM
- 28
100 I
_____________________________ | | |y Sy Y Sy sy R
=
50 + - 24
- 22
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 . i 1500
300 4 Bylnit @DZQ 02:51: ET=667 |[Fg=900.0 Ro=178.0
1
1
- 1000
1
200 - ! o—o—o—0—o
1
i 500
I =
100 ! o
S, NN .
0 p—a P — P D —
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 —?500
w{ BB | BB | m | B | m | % [m %% % %% %[5 % 5| &[6|%E&
1
ByEt @D27 18:43: ET=818 Fg=696. 0 Ro=nan : L 1000
200 - -
©
100 4 - 500
p—— ® \ 4 —© @—
0 —a PN PN P S o ———-////
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 —?500
w{ B B | BB ([2=(2=122 B B | B % | B % | [ % & % &% [ " %[ 6% &
1
ByWoFv @D2q 02:51: ET=573 |[Fg=810.0 Ro=145.0 L 1000
200 7 j —o—o—o
1
| - 500
100 ! L
1.0 — PN lo oo o e 0
) 0 4 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
s BB | B E([2=(2=122 B [ m | B | % | B % [ & [ % & [ % %% %% |[6|%[&
0.6 -
0.4 1
0.2 A
0.0
1500 - — | t
[ ] | _obs
—@— PPFD obs
» 4
o T .9 ® VD
° ’f

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



25.

24.

24,

23.

23.

30.

30.

30.

29.

29.

34.

34.

33.

m=510, FV0=0
017 e ek 24.251 —@— MNE
5_ 2400_
23.75 A
0_
23. 50 A
97 23. 25 -
o 23.00 1
T T T T |22'75_| T T
500 600 700 800 900 510 515 520
m=720,m FV0=0 m=780,m FV0=0
0
25.0 A - M_E
81 24.9 -
6 24. 8
4- 24.7 -
2 24. 6 1
Warning: col ['M_E’] missing
24.5 A
0 T T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0 780 785 790
m=510, FVO0=0 m=600,m FV0=0
1.0
41 —o—
0. 8 1
2_
0.6 -
0_
0.4 -
8_
0.2 A
6 Warning: col "MW ] missing
T T T 0-0 T T T T
510 515 520 0.0 0.2 0.4 0.6 0.8
m=780,m FV0=0 m=840, FV0=0
- Wy 35.50 1 @ MW
5 35. 25 -
35. 00 A
01 34.75
34. 50 A
5_
34. 25 -
780 785 790 840 845 850

24.

24.

24.

24.

24.

24.

32.

31.

31.

31.

31.

30.

.0

m=600, FV0=0

Warning: col ['M_E'] missing

0 0.2

T T
0.4 0.6 0.8

m=840, FV0=0

—0—

M_E

8&5 8%0
m=660,n FV0=0

T
840

| —e— mw

660 665 670

.0

24.9

24.8

24.7

24.6

24.5

36

35

34

33

32

31

30

1.0

0.8

0.6

0.4

0.2

0.0

m=660, FVO0=0
i —o— ME
L T T T
660 665 670
m
- MW
T T T T
500 600 700 800 900
m=720,m FV0=0
Warning: col "MW ] missing
0.0 0.2 0.4 0.6 0.8 1.0



hour

:00 -

:00

120

125

120

125

:10

:00

:50

100

80

- 60

- 40

20

‘%‘% "/é 4 S




P3-6

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:00 240 80.0 E| {Rig@07:00 Fzh (REERSE)
07:50 240 80.0 E|  {Ri1&e07:50 Fzh (KRE{ERLEE)
08:40 240 80.0 & 1RiRe08:40 Fz (KREERE)
09:30 240 80.0 F BRi&@09:30 Fz1 (RAEREE)
10:20 240 80.0 S {Ri%010:20 F3h (FAMERSE)
11:25 240 80.0 =l RRiBe11:25 Fz (RFEAKEE)
12:20 240 80.0 5| 1Rike12:20 Fz) (REAERS)
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EIREBRTK (240) S5TREA (148. 0) R, FIREM T % WREIEIRS X XER

ZRIASLPRIERE130. 0 ml.

large discrepency for begining water status (301:219.0), set to 240.0 ml.

BEREBIEC (2590.0) HiZZEEC (2000.0) REK K, BHHE

HEERECEE (2590. 0 vs 4480.0) i3/




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=26 (2025-04-24)

I e el e e T e Tt
VI, VQ, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 930 [ 1000

680 - 750
89
40 1 L 500

20 A 40 - 250

60 Warning: lcol [FVI',| "FVO’'] missing
200 o
Vi —— ME #30
150 - FRV

60

maxM

100 A

[S3)
o
1

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

) I
400 4 ByInit @29 02:51: ET=535 Fg=800. 0 Ro=305.0

- 1000
300 -

200

T
a1
o
o

100-’-——*.———-‘-——1.~ —€

la
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 | 20 | 21 22 23
S T T T 0 T T I I T

- 1000
300 +—ByEt @D2618:43- ET=596 Fg=792.0 Ro=nan

200

T
a1
o
o

100 p———e—@ ——@—

0 a . o P P Y C—— \ﬂ 0
0 1 2 3 4 5 6 7 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
i 5 5 i i 5 5 i H 5 G A B 5 G A B 5 G A B 5 G A

$—8—2—

ET (ml/hr/plant)

- 1000

]
300 1 ByWoFv @D2q 02:51: ET=520 Fg=880.0 Ro=208.0

200

T
a1
o
o

1
1
1
100—)———40———-l~——10»7 —& ——@—

ET (ml/hr/plant)

1.0 PN N lo P N N 3

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
084 f i i H B H H i H 5 G A B 5 G A B 5 G A B 5 G A

0.6

0.4+

0.2~

0.0

1500 & — | t
| _obs

PPFD_obs

RH
RH_obs
RHo obs

”&“'.0 .}&‘ J e v P

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



24.

24.

23.

23.

22.

22.

24.

24.

24.

24.

24.

24.

25. 00 A

24.98

24. 96

24. 94

24.92 ~

24.90

29.

29.

29.

28.

28.

28.

28.

M_E

T T T
600 700 800

m=720,m FV0=0

T
900

—o— ME

lii
e

755 750
m=510,n FV0=0

—— MW

-
i

5%5 550
m=780,n FV0=0

510

1T —e— mw

N N~ o co o N A~
1 1 1 1 1 1

785 790

23.

23.

22.

24.

24.

24,

24.

24

25.

25.

25.

25.

25.

25.

25.

31.

31.

30.

30.

30.

30.

29.

m=510, FV0=0

M_E

5%5 5&0
m=780,n FV0=0

—o— M_E

7é5 7é0
m=600,n FV0=0

40 ~

35 -

30

25 A

20 ~

15 1

10 4

—o— MW

665 6%0
m=840,n FV0=0

600

25 A

00 -

75 A

50 -

25

00 -

75 -

-o— MW

840 845 850

24.

24.

23.

23.

24.

24.

24.

24.

24.

24.

26.

26.

26.

26.

25.

25.

m=600, FV0=0

—0—

M_E

600

605
m=840,n FV0=0

T
610

—0—

M_E

840

845
m=660,n FV0=0

T
850

1T —e— mw

660

665

670

m=660, FV0=0

24.3 4

24.2 -

24.1 4

24.0 -

23.9 A

—O—

M_E

T T
660 665

670

32 A

30 A

28

26 -

24

—o— MW

660 760
m=720,n FV0=0

T
500

T
800

[{=]

27.6 -

27.4 4

27.2 A

27.0 A

—o— MW

720 725

730



hour

140

:00

105

105

:00

145

:30

:10

:50

145

S & B A K e
‘3{%»’&\%-‘4%%%8&%&%\‘*
U Ut N N S D HRVS SN U U A N
%%%QQ\&&_@Q&%‘_@&

100

80

- 60

- 40

§_



P3-6

g | GEBAK (B | EBE (EA/K) | XS s

06:40 210 80.0 5| 1Ri%0e06:40 F31 (REERE)
07:30 210 80.0 5| 1Ri%e07:30 F31 CGREMEEE)
09:00 210 80.0 | 1Ri%009:00 F31 (RFEEREE)
10:05 210 80.0 5| 1Ri%@10:05 F51 (GREHERESE)
11:05 210 80.0 & BRi%e11:05 Fzh (REAERESE)
12:00 210 80.0 5| {Ri%012:00 F31 (KREERESE)
12:45 210 80.0 5| 1Ri%e12:45 F5 (REEREE)
13:30 210 80.0 | 1Ri%e13:30 Fz (REAHERER)
14:10 210 80.0 5| Ri%e14:10 F51 CREAHEREEE)
14:50 210 80.0 5| 1Ri%e14:50 F1 GREEREE)
15:45 210 80.0 [Z=| {Rige15:45 Fzh (RAEHSE)
23T 2310.0 (1.7 880. 0 32 3HKEC: 1840.0, PH: 6.0
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large discrepency for begining water status (87:234.0), set to 116.0 ml.
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